

SCIREA Journal of Philosophy ISSN: 2995-7788 http://www.scirea.org/journal/Philosophy April 18, 2024 Volume 4, Issue 1, February 2024 https://doi.org/10.54647/philosophy720089

# The Deductibility of the Aristotelian Modal Syllogism E□I◇O-4 from the Perspective of Mathematical Structuralism

Feifei Yang<sup>1</sup>, Xiaojun Zhang<sup>1,\*</sup>

School of Philosophy, Anhui University, Hefei, China

\*Corresponding author

Email: 2736115225@qq.com (Feifei Yang), 591551032@qq.com (Xiaojun Zhang)

# Abstract

This paper firstly provides knowledge representations of Aristotelian modal syllogisms from the perspective of mathematical structuralism, and proves the validity of Aristotelian modal syllogism  $E \Box I \diamondsuit O-4$ , and then by making full use of relevant definitions, facts, and some inference rules, formally derive other 30 valid modal syllogisms on the basis of one modal syllogism (i.e.  $E \Box I \diamondsuit O-4$ ) as a basic axiom. The reason why modal syllogisms are deducible is that the four Aristotelian quantifiers (i.e. *all, no, some*, and *not all*) can be mutually defined, and that so can the two modalities (i.e.  $\Box$  and  $\diamondsuit$ ). Thus, one can establish a minimalist formal axiomatic system for modal syllogistic logic. This formal method is not only beneficial for the study of other types of syllogisms, but also for the development of a more intelligent inference engine for expert systems. **Keywords:** Aristotelian modal syllogism; Aristotelian quantifier; symmetry; deducible relation

## 1. Introduction

It is known that syllogistic reasoning is one of important themes in natural language information processing [1-2]. There are many types of syllogisms, such as categorical syllogisms [3], generalized ones [4], Aristotelian modal ones [5], generalized modal ones [6], etc. This paper mainly studies on Aristotelian modal syllogisms. There were works on the syllogism of the Aristotelian modal syllogisms, such as Łukasiewicz [7], McCall [8], Triker [9], Brennan [10], Malink [11], Xiaojun [12], Long and Xiaojun [13], and so on.

Inspired by previous works, this paper only takes the valid Aristotelian modal syllogism  $E\Box I\diamondsuit O-4$  as a basic axiom to deduce other valid modal syllogisms. That is to say that there are deducible relations between/among valid Aristotelian modal syllogisms.

### 2. Preliminaries

In this paper, Q represents any of the Aristotelian quantifiers (i.e. *all*, *some*, *no*, *not all*). The inner negation of Q is denoted as  $Q\neg$ , and the outer negation of Q as  $\neg Q$ . And f, u and g stand for the lexical variables. The sets composed of f, u are g is respectively F, U, and G. And D denotes the domain of lexical variables.  $\beta$ ,  $\delta$ ,  $\phi$  and  $\lambda$  are well-formed formulas. ' $\vdash \beta$ ' indicates that  $\beta$  is provable. The others are similar.

Aristotelian syllogisms contain three categorical propositions which have the following four types: 'all *f*s are *g*s', 'no *f*s are *g*s', 'some *f*s are *g*s', and 'not all *f*s are *g*s'. They are respectively called Proposition *A*, *E*, *I* and *O*. From the perspective of mathematical structuralism, these four propositions can be respectively expressed as follows: all(f, g), no(f, g), some(f, g), and *not all(f, g)*.

An Aristotelian modal syllogism can be obtained by adding at least one necessary modality

(i.e.  $\Box$ ) or possible one (i.e.  $\diamondsuit$ ) to an Aristotelian syllogism. For example, the modal syllogism  $E\Box I\diamondsuit O-4$  can be obtained by adding one  $\Box$  and one  $\diamondsuit$  to the Aristotelian one EIO-4. The modal syllogism  $E\Box I\diamondsuit O-4$  denotes 'no gs are us, and some us are necessarily fs, so not all fs are possibly gs.', which can be formalized as  $no(g, u) \land \Box some(u, f) \rightarrow \diamondsuit not all(f, g)$ . The others are similar.

An Aristotelian modal syllogism can be explained in the following example:

Major premise: No wolves are grass eaters.

Minor premise: Some grass eaters are necessarily rabbits.

Conclusion: Not all rabbits are possibly wolves.

According to modal logic [14] and generalized quantifier theory [15-16], the following definitions can be obtained:

#### **Definition 1 (truth value):**

- (1) *all*(*F*, *G*) is true when and only when  $F \subseteq G$  is true in any real world.
- (2) *no*(*F*, *G*) is true when and only when  $F \cap G = \emptyset$  is true in any real world.
- (3) *some*(*F*, *G*) is true when and only when  $F \cap G \neq \emptyset$  is true in any real world.
- (4) not all(F, G) is true when and only when  $F \not\subseteq G$  is true in any real world.
- (5)  $\Box all(F, G)$  is true when and only when  $F \subseteq G$  is true in any possible world.
- (6)  $\Box no(F, G)$  is true when and only when  $F \cap G = \emptyset$  is true in any possible world.
- (7)  $\Box$  some(*F*, *G*) is true when and only when  $F \cap G \neq \emptyset$  is true in any possible world.
- (8)  $\Box$  not all(*F*, *G*) is true when and only when  $F \not\subseteq G$  is true in any possible world.
- (9)  $\Diamond all(F, G)$  is true when and only when  $F \subseteq G$  is true in at least one possible world.
- (10)  $\Diamond no(F, G)$  is true when and only when  $F \cap G = \emptyset$  is true in at least one possible world.

(11)  $\diamondsuit$  some(*F*, *G*) is true when and only when  $F \cap G \neq \emptyset$  is true in at least one possible world.

(12)  $\Diamond$  not all(*F*, *G*) is true when and only when  $F \not\subseteq G$  is true in at least one possible world.

**Definition 2 (inner negation)**:  $Q \neg (f, g) =_{def} Q(f, D-g)$ .

**Definition 3 (outer negation)**:  $\neg Q(f, g) =_{def} It$  is not that Q(f, g).

On the basis of generalized quantifier theory [15-16], the following four facts can be obtained:

#### Fact 1 (inner negation):

$(1.2) \vdash no(f, g) \leftrightarrow all \neg (f, g);$
$(1.4) \vdash not \ all(f, g) \leftrightarrow some\neg(f, g).$
$(2.2) \vdash \neg all(f, g) \leftrightarrow not \ all(f, g);$
$(2.4) \vdash \neg some(f, g) \leftrightarrow no(f, g).$

#### Fact 3 (symmetry):

- $(3.1) \vdash some(f, g) \leftrightarrow some(g, f);$
- $(3.2) \vdash no(f, g) \leftrightarrow no(g, f).$

#### Fact 4 (assertoric subalternations):

 $(4.1) \vdash all(f, g) \rightarrow some(f, g); \qquad (4.2) \vdash no(f, g) \rightarrow not all(f, g).$ 

In the light of modal logic [14], the following facts hold:

#### Fact 5 (dual):

$$(5.1) \vdash \neg \Box Q(f, g) = \Diamond \neg Q(f, g); \qquad (5.2) \vdash \neg \Diamond Q(f, g) = \Box \neg Q(f, g).$$

**Fact 6**:  $\vdash \Box Q(f, g) \rightarrow Q(f, g)$ .

**Fact 7**:  $\vdash \Box Q(f, g) \rightarrow \Diamond Q(f, g)$ .

The following deductive rules in propositional logic [17] are also applicable in Aristotelian modal syllogistic.

**Rule 1**: If  $\vdash (\beta \land \delta \rightarrow \phi)$  and  $\vdash (\phi \rightarrow \lambda)$ , then  $\vdash (\beta \land \delta \rightarrow \lambda)$ .

**Rule 2**: If  $\vdash (\beta \land \delta \rightarrow \phi)$ , then  $\vdash (\neg \phi \land \beta \rightarrow \neg \delta)$  or  $\vdash (\neg \phi \land \delta \rightarrow \neg \beta)$ .

# 3. The Reduction from the Modal Syllogism $E \Box I \diamondsuit O-4$ to Other Modal Syllogisms

The validity of the modal syllogism  $E \Box I \diamondsuit O-4$  is proved in the following Theorem 1. '(2.1)  $E \Box I \diamondsuit O-4 \rightarrow E \Box I \diamondsuit O-3$ ' in Theorem 2 indicates that the validity of  $E \Box I \diamondsuit O-3$  can be deduced from the validity of  $E \Box I \diamondsuit O-4$ . In other words, there is deductibility between these two modal syllogisms. The others are similar.

**Theorem 1**(E $\Box$ I $\diamond$ O-4): The syllogism *no*(*g*, *u*) $\land$  $\Box$ *some*(*u*, *f*) $\rightarrow$  $\diamond$ *not all*(*f*, *g*) is valid.

Proof: Assuming that no(g, u) and  $\Box some(u, f)$  are true, it follows that  $G \cap U = \emptyset$  is true in any real world and  $U \cap F \neq \emptyset$  is true in any possible world in terms of Definition (2) and (7), respectively. A real world is a possible world. Then  $F \not\subseteq G$  is true in at least one possible world. This can be proven by reductio ad absurdum. Assume that  $F \not\subseteq G$  is not true in at least one possible world . That is,  $F \subseteq G$  is true in at least one possible world, and  $G \cap U = \emptyset$  has been proven to be true. Thus, it follows that  $F \cap U = \emptyset$  is true, which contradicts  $U \cap F \neq \emptyset$ . So,  $F \subseteq G$ is not true in at least one possible world. That means  $F \not\subseteq G$  is true in at least one possible world. Then in accordance with Definition (7),  $\diamondsuit not all(f, g)$  is true, just as require.

**Theorem 2**: The following 30 valid modal syllogisms can be derived from the syllogism *EIO-4*:

 $(2.1) E \Box I \diamondsuit O-4 \rightarrow E \Box I \diamondsuit O-3$ 

 $(2.2) E \Box I \diamondsuit O-4 \rightarrow E \Box I \diamondsuit O-2$ 

 $(2.3) E \Box I \diamondsuit O-4 \rightarrow E \Box I \diamondsuit O-3 \rightarrow E \Box I \diamondsuit O-1$ 

 $(2.4) E \Box I \diamondsuit O-4 \rightarrow \Box A E \diamondsuit E-4$ 

 $(2.5) E \Box I \diamondsuit O-4 \rightarrow \Box A E \diamondsuit E-4 \rightarrow \Box A E \diamondsuit E-2$ 

 $(2.6) E \Box I \diamondsuit O-4 \rightarrow \Box A E \diamondsuit E-4 \rightarrow E \Box A \diamondsuit E-1$ 

 $(2.7) E \Box I \diamondsuit O-4 \rightarrow \Box A E \diamondsuit E-4 \rightarrow E \Box A \diamondsuit E-1 \rightarrow E \Box A \diamondsuit E-2$ 

 $(2.8) E \Box I \diamondsuit O-4 \rightarrow \Box AE \diamondsuit E-4 \rightarrow \Box AE \diamondsuit O-4$ 

 $(2.9) E \Box I \diamondsuit O-4 \rightarrow \Box AE \diamondsuit E-4 \rightarrow \Box AE \diamondsuit E-2 \rightarrow \Box AE \diamondsuit O-2$ 

- $(2.10) E \Box I \diamondsuit O-4 \rightarrow \Box A E \diamondsuit E-4 \rightarrow E \Box A \diamondsuit E-1 \rightarrow E \Box A \diamondsuit O-1$
- $(2.11) E \Box I \diamondsuit O 4 \rightarrow \Box A E \diamondsuit E 4 \rightarrow E \Box A \diamondsuit E 1 \rightarrow E \Box A \diamondsuit E 2 \rightarrow E \Box A \diamondsuit O 2$
- $(2.12) E \Box I \diamondsuit O-4 \rightarrow E \Box I \diamondsuit O-3 \rightarrow A \Box I \diamondsuit I-3$
- $(2.13) E \Box I \diamondsuit O-4 \rightarrow E \Box I \diamondsuit O-3 \rightarrow A \Box I \diamondsuit I-3 \rightarrow A \Box I \diamondsuit I-1$
- $(2.14) \ E \Box I \diamondsuit O-4 \rightarrow E \Box I \diamondsuit O-3 \rightarrow A \Box I \diamondsuit I-3 \rightarrow \Box IA \diamondsuit I-3$
- $(2.15) \ E \Box I \diamondsuit O-4 \rightarrow E \Box I \diamondsuit O-3 \rightarrow A \Box I \diamondsuit I-3 \rightarrow \Box IA \diamondsuit I-3 \rightarrow \Box IA \diamondsuit I-4$
- $(2.16) E \Box I \diamondsuit O-4 \rightarrow E \Box I \diamondsuit O-2 \rightarrow A \Box O \diamondsuit O-2$
- $(2.17) \ E \Box I \diamondsuit O-4 \rightarrow \Box A E \diamondsuit E-4 \rightarrow E \Box A \diamondsuit E-1 \rightarrow A \Box A \diamondsuit A-1$
- $(2.18) E \Box I \diamondsuit O-4 \rightarrow \Box A E \diamondsuit E-4 \rightarrow E \Box A \diamondsuit E-1 \rightarrow A \Box A \diamondsuit A-1 \rightarrow A \Box A \diamondsuit I-1$
- $(2.19) E \Box I \diamondsuit O 4 \rightarrow \Box A E \diamondsuit E 4 \rightarrow E \Box A \diamondsuit E 1 \rightarrow A \Box A \diamondsuit A 1 \rightarrow A \Box A \diamondsuit I 1 \rightarrow \Box A A \diamondsuit I 4$
- $(2.20) \ E \Box I \diamondsuit O 4 \rightarrow \Box A E \diamondsuit E 4 \rightarrow E \Box A \diamondsuit E 1 \rightarrow A \Box A \diamondsuit A 1 \rightarrow \Box O \Box A O 3$
- $(2.21) \ E \Box I \diamondsuit O 4 \rightarrow \Box A E \diamondsuit E 4 \rightarrow E \Box A \diamondsuit E 1 \rightarrow A \Box A \diamondsuit A 1 \rightarrow A \Box A \diamondsuit I 1 \rightarrow \Box E \Box A O 3$
- $(2.22) \ E \Box I \diamondsuit O 4 \rightarrow \Box A E \diamondsuit E 4 \rightarrow E \Box A \diamondsuit E 1 \rightarrow A \Box A \diamondsuit A 1 \rightarrow A \Box A \diamondsuit I 1 \rightarrow \Box E \Box A O 3 \rightarrow$

 $\Box E \Box AO-4$ 

- $(2.23) \ E \Box I \diamondsuit O-4 \rightarrow \Box A E \diamondsuit E-4 \rightarrow E \Box A \diamondsuit E-1 \rightarrow E \Box A \diamondsuit O-1 \rightarrow \Box A \Box A I-3$
- $(2.24) E \Box I \diamondsuit O-4 \rightarrow \Box I \Box AI-4$
- $(2.25) \ E \Box I \diamondsuit O-4 \rightarrow \Box E \Box AE-4 \rightarrow \Box I \Box AI-3$
- $(2.26) \ E \Box I \diamondsuit O-4 \rightarrow \Box E \Box A E-4 \rightarrow \Box A \Box II-1$
- $(2.27) E \Box I \diamondsuit O-4 \rightarrow \Box E \Box AE-4 \rightarrow \Box A \Box EE-1 \rightarrow \Box A \Box II-3$
- $(2.28) E \Box I \diamondsuit O-4 \rightarrow \Box A E \diamondsuit E-4 \rightarrow E \Box A \diamondsuit E-1 \rightarrow A \Box A \diamondsuit A-1 \rightarrow A \Box O \diamondsuit O-2$
- $(2.29) E \Box I \diamondsuit O-4 \rightarrow \Box A E \diamondsuit E-4 \rightarrow E \Box A \diamondsuit E-1 \rightarrow A \Box A \diamondsuit A-1 \rightarrow A \Box A \diamondsuit I-1 \rightarrow A \Box E \diamondsuit O-2$
- $(2.30) \ E \Box I \diamondsuit O 4 \rightarrow \Box A E \diamondsuit E 4 \rightarrow E \Box A \diamondsuit E 1 \rightarrow A \Box A \diamondsuit A 1 \rightarrow A \Box A \diamondsuit I 1 \rightarrow A \Box E \diamondsuit O 2 \rightarrow$

 $A\square E \diamondsuit O-4$ 

Proof:

- $[1] \vdash no(g, u) \land \Box some(u, f) \rightarrow \Diamond not all(f, g)$
- $[2] \vdash no(u, g) \land \Box some(u, f) \rightarrow \Diamond not all(f, g)$
- $[3] \vdash no(g, u) \land \Box some(f, u) \rightarrow \Diamond not all(f, g)$
- $[4] \vdash no(u, g) \land \Box some(f, u) \rightarrow \Diamond not \ all(f, g)$
- $[5] \vdash \neg \Diamond not all(f, g) \land no(g, u) \rightarrow \neg \Box some(u, f)$
- [6]  $\vdash \Box \neg not all(f, g) \land no(g, u) \rightarrow \Diamond \neg some(u, f)$
- $[7] \vdash \Box all(f, g) \land no(g, u) \rightarrow \Diamond no(u, f)$
- $[8] \vdash \Box all(f, g) \land no(u, g) \rightarrow \Diamond no(u, f)$
- $[9] \vdash \Box all(f, g) \land no(g, u) \rightarrow \Diamond no(f, u)$
- $[10] \vdash \Box all(f, g) \land no(u, g) \rightarrow \Diamond no(f, u)$
- $[11] \vdash \Diamond no(u, f) \rightarrow \Diamond not \ all(u, f)$
- $[12] \vdash \Box all(f, g) \land no(g, u) \rightarrow \Diamond not all(u, f)$
- $[13] \vdash \Box all(f, g) \land no(u, g) \rightarrow \Diamond not all(u, f)$
- $[14] \vdash \Diamond no(f, u) \rightarrow \Diamond not \ all(f, u)$
- $[15] \vdash \Box all(f, g) \land no(g, u) \rightarrow \Diamond not all(f, u)$
- [16]  $\vdash \Box all(f, g) \land no(u, g) \rightarrow \Diamond not all(f, u)$
- $[17] \vdash all \neg (u, g) \land \Box some(u, f) \rightarrow \Diamond some \neg (f, g)$
- [18]  $\vdash all(u, D-g) \land \Box some(u, f) \rightarrow \Diamond some(f, D-g)$
- [19]  $\vdash all(u, D-g) \land \Box some(f, u) \rightarrow \Diamond some(f, D-g)$
- $[20] \vdash all(u, D-g) \land \Box some(u, f) \rightarrow \Diamond some(D-g, f)$
- $[21] \vdash all(u, D-g) \land \Box some(f, u) \rightarrow \Diamond some(D-g, f)$
- $[22] \vdash all \neg (g, u) \land \Box not all \neg (f, u) \rightarrow \Diamond not all (f, g)$

(i.e.  $E\Box I \diamondsuit O-4$ , basic axiom)

- (i.e.  $E\Box I \diamondsuit O-3$ , by [1] and Fact (3.2))
- (i.e.  $E\Box I \diamondsuit O-2$ , by [1] and Fact (3.1))
- (i.e.  $E\Box I \diamondsuit O-1$ , by [2] and Fact (3.1))
  - (by [1] and Rule 2)
  - (by [5] and Fact 5)
- (i.e.  $\Box AE \diamondsuit E-4$ , by [6], Fact (2.1) and (2.4))
  - (i.e.  $\Box AE \diamondsuit E-2$ , by [7] and Fact (3.2))
  - (i.e.  $E\Box A \diamondsuit E-1$ , by [7] and Fact (3.2))
  - (i.e.  $E\Box A \diamondsuit E-2$ , by [9] and Fact (3.2))
    - (by Fact (4.2))
  - (i.e.  $\Box AE \diamondsuit O-4$ , by [7], [11] and Rule 1)
  - (i.e.  $\Box AE \diamondsuit O-2$ , by [8], [11] and Rule 1)
    - (by Fact (4.2))
  - (i.e.  $E\Box A \diamondsuit O-1$ , by [9], [14] and Rule 1)
  - (i.e.  $E\Box A \diamondsuit O-2$ , by [10], [14] and Rule 1)

(by [2], Fact (1.2) and (1.4))

- (i.e.  $A \Box I \diamondsuit I-3$ , by [17] and Definition 2)
- (i.e.  $A \Box I \diamondsuit I-1$ , by [18] and Fact (3.1))
  - (i.e.  $\Box$ IA $\Diamond$ I-3, by [18] and Fact (3.1))
  - (i.e.  $\Box IA \Diamond I-4$ , by [20] and Fact (3.1))
    - (by [3], Fact (1.2) and (1.3))
- $[23] \vdash all(g, D-u) \land \Box not all(f, D-u) \rightarrow \Diamond not all(f, g)$  (i.e.  $A \Box O \diamondsuit O-2$ , by [22] and Definition 2)

- $[24] \vdash \Box all(f, g) \land all \neg (g, u) \rightarrow \Diamond all \neg (f, u)$ (by [9] and Fact (1.2))  $[25] \vdash \Box all(f, g) \land all(g, D-u) \rightarrow \Diamond all(f, D-u)$ (i.e.  $A \Box A \diamondsuit A$ -1, by [24] and Definition 2)  $[26] \vdash \Diamond all(f, D-u) \rightarrow \Diamond some(f, D-u)$ (by Fact (4.1))  $[27] \vdash \Box all(f, g) \land all(g, D-u) \rightarrow \Diamond some(f, D-u)$ (i.e.  $A \Box A \diamondsuit I-1$ , by [25], [26] and Rule 1)  $[28] \vdash \Box all(f, g) \land all(g, D-u) \rightarrow \Diamond some(D-u, f)$ (i.e.  $\Box AA \diamondsuit I-4$ , by [27] and Fact (3.1))  $[29] \vdash \neg \Diamond all(f, D-u) \land \Box all(f, g) \rightarrow \neg all(g, D-u)$ (by [25] and Rule 2)  $[30] \vdash \Box \neg all(f, D \neg u) \land \Box all(f, g) \rightarrow \neg all(g, D \neg u)$ (by [29] and Fact (5.2))  $[31] \vdash \Box not all(f, D-u) \land \Box all(f, g) \rightarrow not all(g, D-u)$ (i.e.  $\Box O \Box AO-3$ , by [30] and Fact (2.2))  $[32] \vdash \neg \diamondsuit some(f, D-u) \land \Box all(f, g) \rightarrow \neg all(g, D-u)$ (by [27] and Rule 2)  $[33] \vdash \Box \neg some(f, D-u) \land \Box all(f, g) \rightarrow \neg all(g, D-u)$ (by [32] and Fact (5.2))  $[34] \vdash \Box no(f, D-u) \land \Box all(f, g) \rightarrow not all(g, D-u)$  (i.e.  $\Box E \Box AO-3$ , by [33], Fact (2.2) and (2.4))  $[35] \vdash \Box no(D-u, s) \land \Box all(f, g) \rightarrow not all(g, D-u)$ (i.e.  $\Box E \Box AO-4$ , by [34] and Fact (3.2))  $[36] \vdash \neg \Diamond not all(f, u) \land \Box all(f, g) \rightarrow \neg no(g, u)$ (by [15] and Rule 2)  $[37] \vdash \Box \neg not all(f, u) \land \Box all(f, g) \rightarrow \neg no(g, u)$ (by [36] and Fact (5.2))  $[38] \vdash \Box all(f, u) \land \Box all(f, g) \rightarrow some(g, u)$ (i.e.  $\Box A \Box AI-3$ , by [37] and Fact (2.1) and (2.3)) [39]  $\vdash \neg \Diamond not all(f, g) \land \Box some(u, f) \rightarrow \neg no(g, u)$ (by [1] and Rule 2)  $[40] \vdash \Box \neg not all(f, g) \land \Box some(u, f) \rightarrow \neg no(g, u)$ (by [39] and Fact (5.2))  $[41] \vdash \Box all(f, g) \land \Box some(u, f) \rightarrow some(g, u)$ (i.e.  $\Box I \Box AI-4$ , by [40], Fact (2.1) and (2.3))  $[42] \vdash \Box all(f, g) \land \Box some(f, u) \rightarrow some(g, u)$ (i.e.  $\Box I \Box AI$ -3, by [41] and Fact (3.1))  $[43] \vdash \Box all(f, g) \land \Box some(u, f) \rightarrow some(u, g)$ (i.e.  $\Box A \Box II-1$ , by [41] and Fact (3.1))  $[44] \vdash \Box all(f, g) \land \Box some(f, u) \rightarrow some(u, g)$ (i.e.  $\Box A \Box II$ -3, by [43] and Fact (3.1))  $[45] \vdash \neg \Diamond all(f, D-u) \land all(g, D-u) \rightarrow \neg \Box all(f, g)$ (by [25] and Rule 2)  $[46] \vdash \Box \neg all(f, D - u) \land all(g, D - u) \rightarrow \Diamond \neg all(f, g)$ (by [45] and Fact 5)
- $[47] \vdash \Box not all(f, D-u) \land all(g, D-u) \rightarrow \Diamond not all(f, g)$

(i.e.  $A\Box O \diamondsuit O-2$ , by [46] and Fact (2.2))

$$[48] \vdash \neg \diamondsuit some(f, D-u) \land all(g, D-u) \rightarrow \neg \Box all(f, g)$$
 (by [27] and Rule 2)  

$$[49] \vdash \Box \neg some(f, D-u) \land all(g, D-u) \rightarrow \diamondsuit \neg all(f, g)$$
 (by [48] and Fact 5)  

$$[50] \vdash \Box no(f, D-u) \land all(g, D-u) \rightarrow \diamondsuit not all(f, g)$$
 (i.e. A  $\Box E \diamondsuit O-2$ , by [49], Fact (2.2) and (2.4))  

$$[51] \vdash \Box no(D-u, f) \land all(g, D-u) \rightarrow \diamondsuit not all(f, g)$$
 (i.e. A  $\Box E \diamondsuit O-4$ , by [50], Fact (3.2))

So far, the validity of the above 30 Aristotelian modal syllogisms have been inferred from that of the one  $E\Box I \diamondsuit O$ -4 taken as a basic axiom.

#### 4. Conclusion and Future Work

This paper firstly provides knowledge representations of Aristotelian modal syllogisms from the perspective of mathematical structuralism, and proves the validity of the Aristotelian modal syllogism  $E\Box I \diamondsuit O$ -4, and then derives the other 30 valid modal syllogisms in line with set theory, generalized quantifier theory and modal logic. Then a minimalist formal axiomatic system can be established for Aristotelian modal syllogistic. The deducible relations between/ among modal syllogisms are revealed in the process of deduction. The reason why modal syllogisms can be deducible is that the four Aristotelian quantifiers (i.e. *all, no, some,* and *not all*) can be mutually defined, and that so can the two modalities(i.e.  $\Box$  and  $\diamondsuit$ ).

In fact, this formal method not only provides a mathematical model for the study of Aristotelian modal syllogisms, but also inspiration for the study of other types of syllogisms(e.g., generalized syllogisms and generalized modal syllogisms), and also for the deeper development of machine reasoning in artificial intelligence. More questions about the deducible relations between/among various syllogisms need further research.

#### Acknowledgements

This work was supported by the National Social Science Foundation of China under Grant No.21BZX100.

# Reference

- [1] Chater N and Oaksford M. (1999) the probability Heuristics model of syllogistic reasoning, *Cognitive Psychology*, Vol. 38: 191-258.
- [2] Westerståhl D. (1989) Aristotelian syllogisms and generalized quantifiers, *Studia Logica*, Vol. XLVII, No. 4, pp. 577-585.
- [3] Hui L. (2023) Reduction between Categorical Syllogisms Based on the Syllogism EIO-2.Applied Science and Innovative Research, 7(1): 30-37.
- [4] Xiaojun Z and Baoxiang W. (2021) Research on Chinese Textual Reasoning. Beijing: People's Publishing House. (in Chinese)
- [5] Cheng Z. (2023) How to Deduce the Other 91 Valid Aristotelian Modal Syllogisms from the Syllogism □I□A□I-3. Applied Science and Innovative Research, 7(1): 46-57.
- [6] Jing X and Xiaojun Z. (2023) The Reducibility of Generalized Modal Syllogisms Based on □AM◊I-1. SCIREA Journal of Philosophy, 3(1):1-11.
- [7] Łukasiewicz J. (1957) Aristotle's Syllogistic: From the Standpoint of Modern Formal Logic. second edition, Oxford: Clerndon Press.
- [8] McCall S. (1963) Aristotle's Modal Syllogisms, Studies in Logic and the Foundations of Mathematics. North- Holland Publishing Company.
- [9] Striker G. (1994) Assertoric vs. Modal Syllogistic. Ancient Philosophy, 14:39-51.
- [10] Brennan T. (1997) Aristotle's Modal Syllogistic. A Discussion of R. Patterson, Aristotle's Modal Logic. Oxford Studies in Ancient Philosophy, 15: 207-231.
- [11] Malink M. (2013) Aristotle's Modal Syllogistic. Harvard University Press.
- [12] Xiaojun Z. (2020) Screening out All Valid Aristotelian Modal Syllogisms. Applied and Computatio nal Mathematics, 8: 95-104.
- [13] Long W and Xiaojun Z. (2023) How to Dedrive the other 37 Valid Modal Syllogisms from the Syllogism ◇A□I◇I-1, International Journal of Social Science Studies, 11(3): 32-37.

- [14] Chellas F. (1980) Modal Logic: an Introduction. Cambridge University Press.
- [15] Peters S and Westerståhl D. (2006) Quantifiers in Language and Logic. Claredon Press, Oxford.
- [16] Xiaojun Z. (2018) Axiomatization of Aristotelian Syllogistic Logic Based on Generalized Quantifier Theory. *Applied and Computational Mathematics*. Vol. 7, No. 3: 167-172.
- [17] Hamilton A G. (1978) Logic for Mathematicians. Cambridge: Cambridge University Press.